Rl B R 1 7e S
meRtk B

P RATHITEIETHAGIE 3 9RE 2HOBRIZLY

fh

a— K

31200
Y3014
32600
31900
31900
34100
34200
34500
Y3030
34800
71011
71030
71032
71160
71187
71286
30100
30100
30100
30200
30300
31100
33500
33810
33810
32600
31700
31800
31950
31950
31900
32800
34300
34300
34300
34330
34400
34400
34400
34460

34460

IR
RARGE
T4
nE
hE
I

L

E—
wIEE (39
BLH
foQ%

RSk

K7 &+ (R)
3 ()
XTI —F
Ja—h
AN
W A
AN
RBN

A

B
VAV 2
S
O

A
S
IEHNAK
HAE
HRE

hE

b
30
mY

.t£7f

a3/
h~ b

| b= b

ol

. TRROEBVHRELET,

—

120

50
60
10

130
390

12

200

20|
15,

15

12

-~

12

10

[S2 BTN (RN e RN NI SO RN )

E

&% (1)

3, 164
346
756
4,579
1,944
2,635
259
4,212
5, 184
1,069
38, 082
2, 580
1,474
1,320
1, 265

1,760

7,182
4,104
130
1,134
23,004
17, 604
583
5,832
1,944
648
16, 794
5,724

3,370|
4,320/
7,884
1,944
10, 152

4,212

1,836

3,186

2,932
1,944

8,748
6, 253
8, 381

20194£10H 31 H %4y

T BARMGEETS RS

RFEE R B
HRFEflfi#&
miE | o | o | EH
86 86 11| BH
43 43 43| B
76| 76 76| A
864 648 648 B
108 108 108| &1
65 65 43| BN
76 11 11 5H
421 421 421 | BH
1,728)  1,728]  1,728| B M
97 97 97 &
66 55 50| BN
33 22 22| BA
24| 22 17| 5™
33 33 22| B
44 44 39| &M
99 99 7 5W
86 86 22| BER B
108 76 76 | E i
22 22/. 22|
24| 24 22|
1,944 1,620 1,620/ 4t
864 648 648 | FE L5
27 27 22| 4@
1,944 1,944 1,944 |82 5
97 97 o7 R E
32| 32 32| &l
1,080 756 756 | HEA
146 146 140/ £ 5
140 140|140 E W
2,160, 2,160 2,160 FEIRE
324 324 216 | )R &
97, 97| o7 ElF
2,592 2,592  2,484|fEA
1,404 1,404 1,404 /fEA
648 648 540 | B
81| 81 54|k
157 157| 65 FEA
1,944 1,944 1,944 fEA
2,916 2,916 2,916 fEA
227 227| 162 | #E 2 &
194 194 151 | fEA

@

A
(BLAL)

463
83K
104%
|6kg

184%

434

|8fA

10kg .
3kg

1% > b
6907

1004
75K
487K v bk
304

1204

1204 '
507

67— A

504
137 —A
264 — A
244%
33—
204%
204%

20— A

404

243

27—x
1303 (500g)
|203R
A=A
37—
3T —A
40%%
2475y
1=

34— 2

298w

4878w 7



gD

I=EFL

i

A I
TRE—w
KTV (F)

N7 Y I (3)

B

FERE

EhE

Lxon
LW
S
P
M

e Selrd
BHIE
S L LHE
Bhh
LEY
RALL

B AT

HovaF

EANE

PSFF

AT T

IEX P
AT R4
&t

2L

LK

2L
2L

2L

i RO 4=
(kg) &k (F) i | o | zem | E M (BLAL)
1 1,361 194 194| 194| B TRy
15| 8,748 2,916] 2,916] 2,916 FEAE 3/ —=x

30 2,916/ 97 97| 97 LiEE  30kg
3 1,620, 1,620 1,620  1,620|gE)2 1 —2

1 1,021] 146 146 146 | 4 [H 71

1 734 119 119 86 |2 71
110 18,360 1,728 1,620  1,620|dLiEE 114 —=
60 7,776 2,592 2,592)  2,592dimE 34 —=
60 7,128 2,376 2,376] 2,376 diEE 34 —=
: 2,160 1,080 1,080 1,080 *[H 24— A
3,024 54 54 43| 5 IR 16078y
2,376 2,376 2,376 2,376/ 15— 2

2,160 108 108 108 | fid 204%

12 5,184 86 86 86 | HEVL RS 60%%

1 540 54 54 54| K%y 103K
1 1,836 432 378 324| K%y 5%y

3 3,402 113 113 113 | %8 i 304%
360 43,438 1,404 1,296 864 fEA 36/ — 2
25 2, 052 540, 540| . 216|pm 54— 2
10 5,184) 5,184) 5184 5, 184| % 7% 17— 2
50 2,808 1,080 216 216| 1L 54— A
10 5184 5184 5184 5 184/ F 1 — 2
45 7,776 972 864  810[iEM 97— 2
60 7,992 1,836 1,620 1,188)7 4 U EL |55 —x
10 2,808 2,808 2,808 2,808/ 74U EL|15—2
5 3,132 3,132 3,132] 3,132|=a—v— |15 —2x

7 FUK 7
10 7,128 3,564|  3,564] 3,564/ =a—— 24 —2

FUR
2,075 378,322,

2/2



